

### Indicative international fees for postgraduate programs commenced in 2023

An "indicative annual fee" is the tuition fee cost of enrolling in a standard full-time study load in the listed commencement year. A standard full-time study load is 16 units but may be higher for intensive programs. A Graduate Certificate is 8 units in total. Actual fees will depend on the number of units you enrol in. Fees usually increase each year.

An "**indicative total program fee**" is the estimated total tuition fee cost of enrolling in a program for its standard duration from its earliest available commencing semester. Fees are reviewed annually. The estimated fee assumes a maximum indexation rate of 6% per annum.

The fee may be higher if:

- The annual increase in fees for a given year is more than the estimate (based on 6%),
- You commence the program in a later semester (where the estimated fee was based on a Semester 1 commencement), or
- You take longer than the normal duration to complete your program.

An "indicative total non-tuition fee" is an estimate of additional study costs, which may be paid to the University, and includes such things as the application fee, Student Services and Amenities Fee, Overseas Student Health Cover, books and equipment, trips and accommodation.

<sup>1</sup>A "CRICOS Code" is for programs registered on the Commonwealth Register of Institutions and Courses for Overseas Students and is for international students on an Australian student visa. If the CRICOS Code is 'n/a' the program is only available to be studied externally/offshore. If the CRICOS code is CONCURR the program is only available to be studied concurrently with another degree at UQ.

### Indicative international fees for postgraduate programs commenced in 2023

	Program Information				Indicative fees	
Code	Description	CRICOS Code <sup>1</sup>	Duration in years	2023 annual tuition fee	Total program tuition fee	Total non-tuition fee
5616	Doctor of Clinical Dentistry	058537K	3	\$76,544	\$243,685	\$3,383
5740	Doctor of Medicine	080921G	4	\$85,024	\$371,947	\$4,578



### Indicative international fees for postgraduate programs commenced in 2023

Code	Description	CRICOS Code <sup>1</sup>	Duration in years	2023 annual tuition fee	Total program tuition fee	Total non-tuition fee
5741	Doctor of Medicine (MD-Ochsner)	0101740	4	USD \$67,456	USD \$295,094	\$4,578
5614	Doctor of Psychology	084717A	4	\$44,688	\$195,493	\$4,578
5007	Graduate Certificate in Agribusiness	030134D	0.5	\$44,544	\$22,272	\$703
5561	Graduate Certificate in Agricultural Science	079376D	0.5	\$44,544	\$22,272	\$703
5565	Graduate Certificate in Animal Science	079377C	0.5	\$44,544	\$22,272	\$703
5463	Graduate Certificate in Applied Linguistics	064991D	0.5	\$33,632	\$16,816	\$703
5557	Graduate Certificate in Bioinformatics	077533A	0.5	\$42,992	\$21,496	\$803
5497	Graduate Certificate in Biostatistics	n/a	1	\$21,288	\$21,927	\$336
5013	Graduate Certificate in Biotechnology	034026J	0.5	\$42,992	\$21,496	\$803
5248	Graduate Certificate in Business	038553J	0.5	\$44,288	\$22,144	\$703
5319	Graduate Certificate in Business Administration	020139D	0.5	\$56,432	\$28,216	\$703
5726	Graduate Certificate in Business Analytics	n/a	1	\$19,776	\$20,666	\$336
5015	Graduate Certificate in Clinical Pharmacy	n/a	1	\$24,680	\$25,420	\$336
5326	Graduate Certificate in Commerce	048758B	0.5	\$46,384	\$23,192	\$703
5336	Graduate Certificate in Communication	049209A	0.5	\$37,472	\$18,736	\$703
5519	Graduate Certificate in Computer Science	073267B	0.5	\$47,264	\$23,632	\$703
5550	Graduate Certificate in Conservation Biology	105698K	0.5	\$41,920	\$20,960	\$703



### Indicative international fees for postgraduate programs commenced in 2023

Code	Description	CRICOS Code <sup>1</sup>	Duration in years	2023 annual tuition fee	Total program tuition fee	Total non-tuition fee
5251	Graduate Certificate in Cyber Security	0100690	0.5	\$47,264	\$23,632	\$703
5344	Graduate Certificate in Development Practice	053339A	0.5	\$33,264	\$16,632	\$703
5602	Graduate Certificate in Economic Studies	084718M	0.5	\$44,144	\$22,072	\$703
5010	Graduate Certificate in Economics	008572K	0.5	\$44,144	\$22,072	\$703
5448	Graduate Certificate in Educational Studies	061819G	0.5	\$31,744	\$15,872	\$703
5527	Graduate Certificate in Engineering Science	075745E	0.5	\$47,264	\$23,632	\$703
5689	Graduate Certificate in Entrepreneurship and Innovation	096016J	0.5	\$44,288	\$22,144	\$703
5706	Graduate Certificate in Environmental Health Sciences	098323D	1	\$18,216	\$18,762	\$1,149
5025	Graduate Certificate in Environmental Management	013832G	0.5	\$42,992	\$21,496	\$763
5478	Graduate Certificate in Epidemiology	n/a	1	\$17,504	\$18,029	\$336
5566	Graduate Certificate in Food Science and Technology	079378B	0.5	\$44,032	\$22,016	\$703
5028	Graduate Certificate in Geographic Information Science	011168G	0.5	\$42,992	\$21,496	\$763
5364	Graduate Certificate in Governance & Public Policy	065330M	0.5	\$33,264	\$16,632	\$703
5033	Graduate Certificate in Information Technology	046495C	0.5	\$47,264	\$23,632	\$703
5369	Graduate Certificate in Interaction Design	053336D	0.5	\$47,264	\$23,632	\$703
5643	Graduate Certificate in International Relations	089175G	0.5	\$31,744	\$15,872	\$703
5654	Graduate Certificate in Magnetic Resonance and Positron Emission Tomography	092060D	0.5	\$42,992	\$21,496	\$703



### Indicative international fees for postgraduate programs commenced in 2023

Code	Description	CRICOS Code <sup>1</sup>	Duration in years	2023 annual tuition fee	Total program tuition fee	Total non-tuition fee
5036	Graduate Certificate in Magnetic Resonance Technology	n/a	1	\$21,496	\$22,141	\$336
5454	Graduate Certificate in Mediation and Conflict Resolution	062633J	0.5	\$31,744	\$15,872	\$703
5560	Graduate Certificate in Medicine	n/a	1	\$21,288	\$21,927	\$216
5042	Graduate Certificate in Molecular Biology	034030B	0.5	\$42,992	\$21,496	\$803
5299	Graduate Certificate in Music	085543K	0.5	\$35,008	\$17,504	\$703
5648	Graduate Certificate in Peace and Conflict Studies	089179D	0.5	\$31,744	\$15,872	\$703
5229	Graduate Certificate in Pharmaceutical Industry Practice	0101741	0.5	\$42,992	\$21,496	\$703
5533	Graduate Certificate in Pharmacy Practice	n/a	2	\$12,340	\$25,791	\$332
5181	Graduate Certificate in Public Health	037400A	0.5	\$35,632	\$17,816	\$703
5444	Graduate Certificate in Sports Coaching	n/a	0.5	\$36,384	\$18,192	\$159
5290	Graduate Certificate in Sports Medicine	n/a	0.5	\$42,576	\$21,288	\$159
5682	Graduate Certificate in Sustainable Energy	094110E	0.5	\$47,264	\$23,632	\$703
5547	Graduate Certificate in Tourism, Hotel and Event Management	077438M	0.5	\$44,288	\$22,144	\$703
5068	Graduate Certificate in Urban and Regional Planning	025968D	0.5	\$42,992	\$21,496	\$763
5730	Graduate Certificate in Urban Development and Design	n/a	0.5	\$42,576	\$21,288	\$159
5678	Graduate Certificate in Writing, Editing and Publishing	093730G	0.5	\$36,000	\$18,000	\$703
5736	Graduate Diploma in Agribusiness	108886D	1	\$44,544	\$45,880	\$1,227



### Indicative international fees for postgraduate programs commenced in 2023

Code	Description	CRICOS Code <sup>1</sup>	Duration in years	2023 annual tuition fee	Total program tuition fee	Total non-tuition fee
5737	Graduate Diploma in Agricultural Science	108888B	1	\$44,544	\$45,880	\$3,227
5751	Graduate Diploma in Arts in Translation and Interpreting	108042D	1	\$37,104	\$38,217	\$1,282
5754	Graduate Diploma in Bioinformatics	108890H	1	\$42,992	\$42,992	\$1,327
5498	Graduate Diploma in Biostatistics	n/a	2	\$21,288	\$45,169	\$572
5119	Graduate Diploma in Biotechnology	034052G	1	\$42,992	\$44,282	\$1,327
5079	Graduate Diploma in Business Administration	022210G	1	\$56,432	\$58,125	\$1,227
5650	Graduate Diploma in Business Research Methods	065372A	1	\$44,288	\$45,617	\$1,227
5520	Graduate Diploma in Computer Science	073268A	1	\$47,264	\$48,682	\$1,227
5255	Graduate Diploma in Cyber Security	0100691	1	\$47,264	\$48,682	\$1,227
5077	Graduate Diploma in Economics	008579C	1	\$44,144	\$45,468	\$1,227
5705	Graduate Diploma in Environmental Health Sciences	098322E	1	\$36,432	\$37,525	\$1,227
5084	Graduate Diploma in Environmental Management	008458A	1	\$42,992	\$44,282	\$1,287
5479	Graduate Diploma in Epidemiology	066286B	1	\$35,008	\$35,008	\$1,227
5734	Graduate Diploma in Financial Mathematics	105700K	1	\$42,992	\$44,282	\$1,227
5086	Graduate Diploma in Geographic Information Science	003854G	1	\$42,992	\$42,992	\$1,287
5365	Graduate Diploma in Governance & Public Policy	065317G	1	\$33,264	\$34,262	\$1,227
5090	Graduate Diploma in Information Technology	003856E	1	\$47,264	\$48,682	\$1,227



# Indicative international fees for postgraduate programs commenced in 2023

### Program Information Indicative fees

Code	Description	CRICOS Code <sup>1</sup>	Duration in years	2023 annual tuition fee	Total program tuition fee	Total non-tuition fee
5370	Graduate Diploma in Interaction Design	053337C	1	\$47,264	\$48,682	\$1,227
5096	Graduate Diploma in Magnetic Resonance Technology	034046E	1	\$42,992	\$44,282	\$1,227
5127	Graduate Diploma in Molecular Biology	034055D	1	\$42,992	\$44,282	\$1,327
5131	Graduate Diploma in Public Health	024647G	1	\$35,632	\$36,701	\$1,227
5733	Graduate Diploma in Quantitative Biology	105699J	1	\$46,864	\$48,270	\$1,227
5240	Graduate Diploma in Science	008585E	1	\$46,864	\$48,270	\$1,227
5683	Graduate Diploma in Sustainable Energy	094111D	1	\$47,264	\$48,682	\$1,227
5116	Graduate Diploma in Urban and Regional Planning	025980G	1	\$42,992	\$44,282	\$1,287
5656	Master of Advanced Economics (#16)	092449E	1	\$42,576	\$42,576	\$1,227
5562	Master of Agribusiness (#32)	079391E	2	\$44,544	\$94,513	\$2,224
5564	Master of Agricultural Science (#32)	079381G	2	\$44,544	\$94,513	\$4,224
5571	Master of Animal Science (#32)	079383E	2	\$44,544	\$94,513	\$4,224
5632	Master of Applied Econometrics (#32)	089169F	2	\$44,144	\$93,665	\$2,224
5592	Master of Applied Linguistics (#32)	082604D	2	\$33,632	\$71,360	\$2,224
5429	Master of Architecture	060311K	2	\$42,576	\$90,338	\$2,224
5752	Master of Arts in Translation and Interpreting	108043C	2	\$37,104	\$78,727	\$2,279
5145	Master of Audiology Studies	070265F	2	\$49,376	\$101,715	\$2,224

2023 Indicative international postgraduate fees Published: 13/01/2023



### Indicative international fees for postgraduate programs commenced in 2023

		CRICOS	Duration in	2023	Total program	Total non-tuition
Code	Description	Code <sup>1</sup>	years	annual tuition fee	tuition fee	fee
5755	Master of Bioinformatics	108891G	2	\$42,992	\$91,220	\$2,324
5598	Master of Bioinformatics Research Extensive (#32)	082610F	2	\$42,992	\$88,564	\$2,324
5500	Master of Biostatistics (#24)	n/a	3	\$21,288	\$67,772	\$454
5599	Master of Biotechnology (#32)	082611E	2	\$42,992	\$91,220	\$2,324
5627	Master of Biotechnology Research Extensive (#32)	085552J	2	\$42,992	\$91,220	\$2,324
5583	Master of Business (#32)	082595M	2	\$44,288	\$93,970	\$2,224
5430	Master of Business Administration	060533G	1	\$84,648	\$87,187	\$1,227
5188	Master of Business Analytics	n/a	2	\$39,552	\$63,552	\$572
5728	Master of Business Psychology	105112H	2	\$48,944	\$103,849	\$2,224
5742	Master of Chemical Engineering (Professional)	108878D	2	\$47,264	\$100,285	\$2,224
5743	Master of Civil Engineering (Professional)	108880K	2	\$47,264	\$100,285	\$2,224
5718	Master of Clinical Pharmacy	n/a	1	\$49,360	\$50,841	\$218
5164	Master of Clinical Psychology	026000G	2	\$44,688	\$92,057	\$2,224
5584	Master of Commerce (#32)	082596K	2	\$46,384	\$98,418	\$2,224
5651	Master of Communication (#32)	089661E	2	\$37,472	\$79,508	\$2,224
5522	Master of Computer Science (#24)	073272E	1.5	\$47,264	\$73,732	\$1,728
5523	Master of Computer Science (Management)	073269M	2	\$47,264	\$100,285	\$2,224



### Indicative international fees for postgraduate programs commenced in 2023

Code	Description	CRICOS Code <sup>1</sup>	Duration in years	2023 annual tuition fee	Total program tuition fee	Total non-tuition fee
5551	Master of Conservation Biology (#24)	077443C	1	\$62,880	\$64,766	\$1,227
5597	Master of Conservation Science	082609K	1.5	\$62,880	\$86,670	\$1,728
5333	Master of Counselling	048816G	2	\$28,848	\$59,427	\$2,224
5257	Master of Cyber Security (32 units)	0100693	2	\$47,264	\$100,285	\$2,224
5732	Master of Data Science - Exchange	092454G	1.5	n/a	na	\$1,257
5660	Master of Data Science (#32)	092454G	2	\$47,264	\$100,285	\$2,224
5594	Master of Development Practice (#32)	082606B	2	\$33,264	\$70,580	\$2,354
5473	Master of Dietetics Studies	065374K	1.5	\$49,376	\$75,545	\$1,763
5399	Master of Economics (#32)	058270K	2	\$44,144	\$93,665	\$2,224
5588	Master of Economics and Public Policy (#32)	082599G	2	\$44,144	\$93,665	\$2,224
5596	Master of Educational Studies (#32)	082608M	2	\$31,744	\$67,354	\$2,224
5744	Master of Electrical Engineering (Professional)	108881J	2	\$47,264	\$100,285	\$2,224
5539	Master of Engineering Science - Exchange	075742G	1.5	n/a	\$0	\$1,257
5540	Master of Engineering Science - Exchange	075740K	2	n/a	\$0	\$1,596
5652	Master of Engineering Science - Exchange	076003B	1	n/a	\$0	\$913
5528	Master of Engineering Science (#16)	076003B	1	\$47,264	\$48,682	\$1,227
5530	Master of Engineering Science (Management)	075740K	2	\$47,264	\$100,285	\$2,224



### Indicative international fees for postgraduate programs commenced in 2023

Code	Description	CRICOS Code <sup>1</sup>	Duration in years	2023 annual tuition fee	Total program tuition fee	Total non-tuition fee
5690	Master of Entrepreneurship and Innovation	096017G	1.5	\$44,288	\$69,089	\$1,728
5704	Master of Environmental Health Sciences	098321F	2	\$36,432	\$77,301	\$2,224
5609	Master of Environmental Management (#32)	084722D	2	\$42,992	\$91,220	\$2,284
5759	Master of Epidemiology	110070D	2	\$35,008	\$72,116	\$2,224
5573	Master of Financial Mathematics (#32)	079389K	2	\$42,992	\$91,220	\$2,224
5576	Master of Food Science and Technology (#32)	079385C	2	\$44,032	\$93,427	\$2,224
5753	Master of Food Science and Technology Research Extensive	108889A	2	\$44,032	\$93,427	\$2,224
5610	Master of Geographic Information Science (#32)	084723C	2	\$42,992	\$91,220	\$2,284
5511	Master of Global Management	073271F	2	\$44,288	\$93,970	\$2,224
5535	Master of Global Management - Exchange	073271F	2	n/a	\$0	\$1,596
5607	Master of Governance & Public Policy (#32)	084724B	2	\$33,264	\$70,580	\$2,224
5589	Master of Health Economics (#32)	082600G	2	\$44,144	\$93,665	\$2,224
5581	Master of Information Technology	080723B	2	\$47,264	\$100,285	\$2,224
5580	Master of Interaction Design	080726K	2	\$47,264	\$100,285	\$2,224
5695	Master of International Commercial Law (24 units)	096808K	1.5	\$44,288	\$69,089	\$1,728
5590	Master of International Economics and Finance (32 unit)	082601G	2	\$44,144	\$93,665	\$2,224
5658	Master of International Law	092451M	1.5	\$44,288	\$69,089	\$1,728



### Indicative international fees for postgraduate programs commenced in 2023

Code	Description	CRICOS Code <sup>1</sup>	Duration in years	2023 annual tuition fee	Total program tuition fee	Total non-tuition fee
5641	Master of International Relations (#32)	089174J	2	\$31,744	\$67,354	\$2,224
5591	Master of Laws (#24)	082603E	1.5	\$44,288	\$69,089	\$1,728
5757	Master of Leadership and Innovation	n/a	1	\$25,808	\$26,582	\$1,227
5193	Master of Magnetic Resonance Technology	034047D	1.5	\$42,992	\$67,068	\$1,728
5745	Master of Materials and Manufacturing Engineering (Professional)	108882H	2	\$47,264	\$100,285	\$2,224
5746	Master of Mechanical Engineering (Professional)	108883G	2	\$47,264	\$100,285	\$2,224
5398	Master of Medicine	n/a	2	\$21,288	\$45,169	\$332
5151	Master of Mental Health	031212J	1.5	\$34,960	\$53,489	\$1,728
5600	Master of Molecular Biology (#32)	082612D	2	\$42,992	\$91,220	\$2,324
5625	Master of Molecular Biology Research Extensive (#32)	085548E	2	\$42,992	\$91,220	\$2,324
5692	Master of Molecular Imaging Technology	096018G	1.5	\$48,096	\$73,587	\$1,728
5343	Master of Museum Studies	056193A	1.5	\$33,264	\$51,892	\$1,728
5368	Master of Music (#24)	073762J	1.5	\$35,008	\$54,612	\$1,728
5491	Master of Nursing Studies	069418D	2	\$36,256	\$74,687	\$2,254
5558	Master of Occupational Health and Safety Science	077534M	1.5	\$42,992	\$67,068	\$1,868
5738	Master of Occupational Hygiene	106960D	1.5	\$42,992	\$67,068	\$1,728
5147	Master of Occupational Therapy Studies	002041G	2.5	\$49,376	\$132,505	\$2,714



### Indicative international fees for postgraduate programs commenced in 2023

Code	Description	CRICOS Code <sup>1</sup>	Duration in years	2023 annual tuition fee	Total program tuition fee	Total non-tuition fee
5199	Master of Organisational Psychology	002042G	2	\$44,688	\$92,057	\$2,224
5646	Master of Peace and Conflict Studies (#32)	089178E	2	\$31,744	\$67,354	\$2,224
5703	Master of Pharmaceutical Industry Practice	098320G	2	\$42,992	\$91,220	\$2,224
5221	Master of Physiotherapy	102796K	1.5	\$49,376	\$50,857	\$1,017
5267	Master of Physiotherapy Studies	039545A	2	\$61,720	\$127,143	\$2,335
5666	Master of Psychology	092458D	2	\$44,688	\$92,057	\$2,224
5760	Master of Public Health	110071C	2	\$35,632	\$75,604	\$2,224
5716	Master of Quantitative Biology (32 units)	0100695	1.5	\$70,296	\$97,594	\$1,728
5711	Master of Quantum Technology	099450M	1.5	\$46,864	\$73,108	\$1,728
5712	Master of Science (#32)	099432B	2	\$46,864	\$99,436	\$2,224
5457	Master of Social Work Studies (#32)	063939E	2	\$29,056	\$59,855	\$2,224
5747	Master of Software Engineering (Professional)	108884F	2	\$47,264	\$100,285	\$2,224
5228	Master of Speech Pathology Studies	111199A	2	\$61,720	\$133,246	\$2,714
5725	Master of Sports Coaching	n/a	2	\$36,384	\$77,200	\$336
5420	Master of Sports Medicine	n/a	1	\$42,576	\$43,853	\$218
5684	Master of Sustainable Energy	094112C	1.5	\$47,264	\$73,732	\$1,728
5708	Master of Sustainable Energy (Management)	099125B	2	\$47,264	\$100,285	\$2,224



Indicative fees

## Indicative international fees for postgraduate programs commenced in 2023

**Program Information** 

#### **CRICOS Duration** in 2023 **Total non-tuition Total program** Code Description Code<sup>1</sup> annual tuition fee tuition fee vears fee 5556 Master of Teaching (Primary) 2 \$31,744 \$65,393 \$2,224 078819A 5685 Master of Teaching (Secondary) 094715J 2 \$31,744 \$65,393 \$2,224 5585 Master of Tourism, Hotel and Event Management (#32) 082602F 2 \$44,288 \$93,970 \$2,224 5559 Master of Urban and Regional Planning (#32) 077535K 2 \$42,992 \$91,220 \$2,284 5722 Master of Urban Development and Design 2 \$90,338 \$2,224 0102136 \$42,576 5748 Master of Urban Water Engineering (Professional) 2 \$47,264 \$2,224 108885E \$100,285 Master of Writing, Editing and Publishing (#24) 1.5 \$1,728 5681 093732E \$36,000 \$56,160 5671 \$87,316 \$2,224 Masters of International Relations/International Law 092452K 2 \$41,152 \$2,224 5688 Masters of International Relations/Peace and Conflict Studies 095578E 2 \$31,744 \$67,354 Masters of Occupational Hygiene/Occupational Health and Safety 5739 106961C 2 \$42,992 \$91,220 \$2,224 Science